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The fundamental choice (pay-as-you-go/funding) is present as well for

defined benefit schemes (DB) as for defined contributions pension

schemes (DC).
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Pension calculation under NDC Scheme
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• 𝑙(𝑥,𝑡): Number of survivors of age (x) at time t;

• 𝑦(𝑥,𝑡): Average earning of age (x) at time t.

Contribution Rate

Rate paid by contributors: 𝜃𝑐 = 𝜃∗: Rate to keep system balanced



Minimum Pension

• Use following formulas for minimum pension:

𝐵0 = 0;

𝐵1 = 𝐵0 1 + 𝑟 + 𝐷(𝑥+𝐴,1) ∙ 𝑙 𝑥+𝐴,1 − σ(𝑃𝑚𝑖𝑛 − 𝑃 𝑥+𝐴,1 )
+∙ ሷ𝑎(𝑥+𝐴,1);

𝐵2 = 𝐵1 1 + 𝑟 + 𝐷(𝑥+𝐴,2) ∙ 𝑙 𝑥+𝐴,2 − σ(𝑃𝑚𝑖𝑛 − 𝑃 𝑥+𝐴,2 )
+∙ ሷ𝑎(𝑥+𝐴,2);

…..

Choose the largest 𝑃𝑚𝑖𝑛 to make sure all 𝐵𝑡 > 0

• Divide pensioners into different groups based on different level of pension/contribution;



Results

Minimum pension under different salary growth rate



Results

Minimum pension under different interest rate


